N & O & & F A
20209 = =0l At LB et
O XS A8 (HLH)
S oy 78 CER-ED
BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
1,065,280 996, 368 68,912
XSS A& (HHH) 1,002,370 935,738 66,632
ot ¥ PH 1,002,370 935,738 66,632
3 29 250,087 210,721 39,366
2 B2 F | 56,757 76,391 A 19,634
AtS 22l 36,354 31,428 4,926
Oos2s HMH 95,000& 105 950
OR3X HE 95,000& x129H 1,140
OANSA 2Y(BAIH, 2022 S)
300,000& »12& 3,600
O=2AMIl, 28 s 228 ¢ 7,733
- &4 209,000& =134 2,717
—JtECX 418,000 =124 5,016
OotlazZ2 & =M s =&l
8,000& x20H 25! 4,000
OSEELEAN =257 95,000& x5& 475
OO0IEXS A HSE X 10, 000& 1004 1,000
OZdHN HM=83 ¥ 100,000& 208 2,000
OSEESLEAN =2H H=235 7¢
100,000& 108 1,000
Oglaelg x 7l 360,000& »12& 4,320
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OXNXIHE s&e =3 500,000 *33| 1,500
Otdd HOIoE AR =
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— 08 HAZSLAIE 19,000& 128 228
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el BMEs oE P CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFMEHBA) =22 4,356
— FOXXIMH 180,000 1200 & 2,160
—tEESH 2 183,000 1200 & 2,196
OFAL HIIAIE o-M2te| ] 3,265
— FOXXIMEH 90,000& 1201 & 1,080
—d 2t s 182,050 1200 & 2,185
206 = Hl 4,000 4,000 0
01 M Z 4l 4,000 4,000 0
OS2 A28 FY (AR 5)
100,000& =402/ 4,000
401 AIEHI L 20 12,000 20,000 A8,000
01 A& HI 12,000 20,000 A8,000
OHEE HEE 2 224 4
12,000,000 * 10 2 12,000
XA 29 34,500 32,300 2,200
201 et 10,500 10,500 0
01 At 22l 10,500 10,500 0
OFLUXXEa 2= 70,000 25 *62] 10,500
202 04l 500 1,000 A 500
01 = LHA YI 500 1,000 A 500
O=3UuoigI(aa) 500,000& 500
206 M= Hl 5,300 1,800 3,500
01 =8l 5,300 1,800 3,500
OJIEH(MHZHl &) 300,000 132 £t1.35883! 5,300
301 LeEAF 18,200 19,000 A 800
09 &AL HIXI &3 18,200 19,000 A 800
OFUXNXNEZOS WE ZAH
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Atglotdar = 1,900 1,900 0
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01 At 22l 1,900 1,900 0
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— 54l 1,354.05& %8004 *6& 6,500

_4_




2A: oty

i
M ZOIHO XA AE (L)
& Mot 28 &8 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 282 2 N3 1,000, 000& =1 CH 1,000
— =clHl 1,000, 000& = 1CH 1,000
- 22| 1,000, 0002 »1CH 1,000
202 04l 500 500 0
01 = LH o4 1l 500 500 0
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— 28z 19,792,000& *12.7% 2,514
OctHsEsda2el R 4,803
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—-28s 4,261,000 *12.7% 542
OAIJHAl EHl e8¢ 68,7203 x11H 4 3,024
H3ts0l ==HA AR 68,720 +8F 4L 2,200
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OFBIEZ HFEHMAH 2
68,7203 x 10 x4 2,749
OdtAHYAALS 22,306
- JI&s 68,7203 x2F 120 16,493
- =5 68,7203 x2H x24 3,299
- BE= 19,792,000& *12.7% 2,514
O dEXs3d & odisa 2el UFRY 18,588
—-Jl=s 68,7203 x 18 200! 13,744
—FF5Y 68,7203 x 1 x40 2,749
= = 16,492,800& *12.7% 2,095
OMEE Mgilgg & HAEX 12,005
—Jles 68,720 x1H »130 8,934
- T4 68,7203 x 1«25 1,718
—S8= 10,652,000& *12.7% 1,353
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01 At 22l 5,500 5,000 500
OHEAES #2 200,000& x55 *43| 4,000
O0lsSAGHAA &
50,0003 10 A *33] 1,500
206 M= Hl 13,858 14,670 AB12
01 =8l 13,858 14,670 AB12
OHAESE HEEHI F7g 2,290
—-&d% 54.05% x541.394 *3& 2,200
— s 1,496.68% 204 »3& 90
OFHE=z 8 §xHAN8 #1787Y 150
—Fegs 1,496.68& x1004 150
OdtHEAALA=E RFEF2Y 11,418
-4d% 1,354.05& *6,000£ 8,125
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sa=sX F=A 5,340 0 5,340
201 LBt | 4,840 0 4,840
01 At 22l 4,840 0 4,840
Ot HXI A A oM 2o &<
70,0003 x13E %43 3,640
ONMALADE 28 #8 S
100,000& = 12& 1,200
202 O4dl 500 0 500
01 = LH 4 1 500 0 500
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01 = LH o4 1l 3,500 3,500
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02 A Y| 36,000 34,200
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203 R =& 12,520 12,520
01122 6,600 6,600
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02 &3I4t 1,120 1,120
O&& 10 40,0003 »28H 1,120
04 RN2EHRF 4,800 4,800
OF& 25 400,000& x12& 4,800
g% J2&l 1,290 1,290
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01 At 22l 1,290 1,290
Ol 60,0003 »1H+x9 540
OTHE I 30,0003 » 1 25 750




